ORrTUR

LASER MASTER 2 PRO S2



X Aluminum Profile-460 mm = 2

1 Y Aluminum Profile-540mm =1
"o | Scale mark face up

Scale mark t.'r

Cormer Conneclors =2
Scale mark 0
Scale mark 0

J
| \ M5x25mm Screws x2 =y

4

Lock screws

Scale mark face up

M5 Profile Nuts *d ey

5

Corner Connectors =2

xs

-, Scale mark 0

Scale mark 0 <55
" Put X axis assembly onto the frame

8 Please use the 10mm hex wrench to
adjusl the eccentric gear, to
adjust the gap of the POM
wheels and aluminum profile.

MS5=Bmm Screws =2

s Y Limil Swiilch =1

Base Anchors =1

Base Anchors =2
M5 Profile Nuts =2

Timing Belts =2

M5=8mm Screws x4 'L'L"H M5=8mm Screws =2

MS Spacers =2



9 10 11

After installation, it is necessary to ensure that
the timing belt is tight, the timing pulley and the
timing belt are in good contact, and make sure
any side could move smoothly

Do not cover the flame delector.

The timing belt passes through here and should be tightened then. M5=Bmm Screws =2

1 2 13 First, please plug the ¥ motor cable into the Y motor,
) ¢ - and make sure the cable is long enough for the X axis
to move smoothly.

M5 T-nut =1

ﬂ Loom Fixing Plate 1 =1

M5 Spacer x| —&»

* Cable Loom Fixing Plate 2 x1 M4 x6mm Screw =2 Y-Motor Cable Loom 1
M4 xEmm Screws =2

M5=Bmm Screw =1

14 15

Red Black

M?tnr Wire Cable T.i“ %]

M5 T-nut =2

1. Focal Gauge +
Gauge Holder =1

M5=Bmm Screws =2

Laser Module =1

Cable Tie *1 | -
The wire terminal must be inserted into the end of the port. LU2-4-5F haven't this Focal Gauge & Holder, but a Focal Gauge Board.




16 Md4=6mm Screws x2 Cable Tie x1 Option 1/3

@ 6Pin

*_.

X Motor Wire Laser Wire

4Pin

L AN LU2-2 and LU2-4-LF laser module wiring
;

- il

Gr::uund Wire
3Pin
Cable Ties =2

Option 2

e S

Cable Tie x1 -

Laser Wire =

Itis normal to have sparks when inserting the 24V power cord.

@ Laser Wire Red Black

®

+== Ground Wire

= M5=*Bmm Screw =1

LU2-4-5F laser module wiring

| .'
Ground Wire 3Pin




{"type":"Imported Other","isBackSide":false,"languages":["cs-cz"],"usedOnDeviceOCR":false}




{"type":"Imported Other","isBackSide":false,"languages":["cs-cz"],"usedOnDeviceOCR":false}




{"type":"Imported Other","isBackSide":false,"languages":["cs-cz"],"usedOnDeviceOCR":false}




{"type":"Imported Other","isBackSide":false,"languages":["cs-cz"],"usedOnDeviceOCR":false}



